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AN tA 2t
B olgslael
ool EgY =X CER-ED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

A 29 N 8,000 8,000 0

301 g4 = 8,000 8,000 0

04 tSLHUHLLH XA 8,000 8,000 0
OYYHAHES ==X A=Hl 400,000&~12& 4,800
OgHEH P (ads, 28 S) 1,100
O2+alH| 3,500& x50 «12& 2,100

Moo & =2s22 s 596,174 8,600,000 A 8,003,826
= 285,000
s 311,174

Mol ISR = A 596,174 8,600,000 A 8,003,826
= 285,000
s 311,174

EsX+ 2FMFAE 2el 26,174 0 26,174

101 14 Hl 2,614 0 2,614

04 JIZHHZ2XRHEE S 2,614 0 2,614
O&FA & ¢dA 51,7603 x5 x10 2,588
OdMMEE= 2,588,000& * 1% 26

201 Let24d] 23,560 0 23,560

01 A2 2l | 1,056 0 1,056
OdJ| etE e =2 88,000& 123 1,056

02 =224l 22,504 0 22,504
OHIIRa 1,000,000& »12& 12,000
O4ot=ER3 20,000& 123 240
oelgHd = 22,0002 128 264
OAEE |X 2l 10,000

T T H 2l & e X R R (Z& X 7) 280,000 0 280,000
= 140,000
[ia 140,000

401 Al HI K 201 I 280,000 0 280,000
= 140,000
s 140,000

01 A& HI 277,984 0 277,984
OXEH Mol XF AL 277,984
= 137,984
[ia 140,000

03 A& =2 THHI 2,016 0 2,016
OXEH Mol A X7 U A 2,016
= 2,016

THATHONRAEINL X2 H G (E LX) 290,000 0 290,000
= 145,000
i 145,000

401 AIEHI L 2CHEI 290,000 0 290,000
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

= 75,000
s 145,000

01 A& HI 287,912 0 287,912
OZe Mol S X+ A 287,912
2 142,912
[ia 145,000

03 Al 2 0HHI 2,088 0 2,088
Ogol THolAS X+ HHIALY 2,088
= 2,088

ot & & dl 3,191,310 3,261,225 A69,915
X 584,000
s 2,607,310

ot & ZHIAHS 3,191,310 3,261,225 A69,915
X 584,000
s 2,607,310

Ot A& ALY 1,876,732 1,284,652 592,080

401 Al HI K 201 1,876,732 1,284,652 592,080

01 A& HI 1,870,000 1,280,000 590,000
OGSt AlY 22| 10,000,000 «5J4 A& 50,000
OO0l=E2X 24l 1,000,000& =50 X 50,000
OMAEAIE L IJIEFAIE Jf 2 4= (500m) 50,000

OMAE ActEAEAMN

7,000,000 *100H 2 70,000
OdtdNgEz L HXE=2 ZF(500m) 50,000
OZ& &=23 n& 41 80,000
Ol =5& FHl 100,000
O~ 243 HH 40,000
Ot tHad Mg =& 50,000
O 238 M L& 30,000
Ot ZMA FH| 40,000
O 233 H| 80,000
Ot BESd FHl 70,000
Oss d49d Fl 40,000
oot slstd FHl 40,000
otot ss& Fl 50,000
Oior =8d& Hl 80,000
2 g2 F4 150,000
O2d A28 Mg =& 45,000
Osg &=& FHl 40,000
O=2d 28 Mg =2 30,000
O=M 28& FHHl 55,000
O=ZAM off&td EHl 40,000
OZM 3l&d A &I 30,000
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o ot E |
& SHEEHIALE (&)
2 S 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=ZAMN Btad =4 20,000
OzZM s€& &l 50,000
Oz=g Utatd Hl 40,000
Ozdg Z&d 3d & =4 40,000
OZ 4 siH A HHI 80,000
Og¢ =5 Hl 70,000
Ogd MEd Fl 50,000
Oge =JAXA HHl 100,000
Ogd tHEd Fol 20,000
oYy Zard Hyl 40,000
03 Al S THHI 6,732 4,652 2,080
Oot&E ZHIAY 1,870,000,000& *0.36% 6,732
otE |2l A 326,578 196,573 130,005
101 14 Hl 5,228 4,873 355
04 JIZHHZ2XRHEE S 5,228 4,873 355
Ostd == HA 51,7603 x20H 52 5,176
OdMMEE= 5,176,000& * 1% 52
201 2Bt | 121,350 31,700 89,650
01 At 22/l 121,350 31,700 89,650
omNs2=sx L MEZXEY LA (HSR
go) 495,000 20K 9,900
Odtd Rz JHl(Hs2, €X)
495,000 3«20 x100H S H 99,000
OSI=EE =22 (14]) 15,000& 5004 7,500
OQQPEE 2RMY I e 24 L QA (
WS ) 495,000& = 10CH 4,950
401 Al HI L 2 THHI 200,000 160,000 40,000
01 A& HI 200,000 160,000 40,000
OXNYSHE - A5 =8 U B2
20,000,000 =54 2 100,000
OXestd - 25t == HA
5,000,000& x105 ™ 50,000
ORXESIAE - A5tE AlEd2S2e2l
10,000,000& «5H 2~ 50,000
A6HA FHIAMS(2HA) 808,000 100,000 708,000
Xl 404,000
[ia 404,000
401 Al HI K 201 I 808,000 100,000 708,000
X 404,000
s 404,000
01 A& tI 802,183 100,000 702,183
OZHAGHE FHIAY 802,183
Xl 398,183
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& SHEEHIALE (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o 404,000
03 Al 2 THHI 5,817 0 5,817
OZFHAGHE FHIAY 5,817
Xl 5,817
A6HA HEIAIS (HaA) 180,000 0 180,000
Xl 180,000
401 Al HIZ 201 8] 180,000 0 180,000
Xl 180,000
01 A& HI 177,408 0 177,408
OdatAdtd ALY 177,408
X 177,408
03 AIE 2 THHI 2,592 0 2,592
O&&AcHE FHIAY 2,592
Xl 2,592
HH YA (erA 22| t) 205,401 223,991 A 18,590
ol 2 gl 124,770 115,347 9,423
ol Hl 124,770 115,347 9,423
101 @124 Hl 124,770 115,347 9,423
01 2= 116,131 107,390 8,741
OANZtQZRg FHE(25Y) 27,753
— 6= 10,6823 x7H x10Al 2t+ 128 8,973
- u= 10, 1123« 1H «10Al 2t + 128 1,214
A= 9,649 x5 «10Al 2tx 1228 5,790
— 8= 8,663 «5H «10Al 2t+12& 5,198
- 9= 7,8303 «7H+10Al 2tx 1228 6,578
O=lz22Y 9,206 25 *32A1 2t 12& 88,378
02 JIEt& B = 8,639 7,957 682
OFHJAZ = (156H~234) 4,357
—NLRRLG(FuE)
8,883 1P *10Al 2t+ 123 1,066
—=U2RE 8,569& 1 «32Al 2tx 128 3,291
OHJZ (158 0lat) 4,282
—NLRRLG(FUE)
8,256 18 »10A| 2t+ 128 991
—=U2RE 8,569& «1H «32A| 2tx 122 3,291
Jl=&l 80,631 108,644 228,013
Jl=dl 80,631 108,644 228,013
201 Let24d] 28,861 53,574 A24,713
01 At 22/l 24,361 48,322 A 23,961
OgttZH| SHA & 23,562,000& *50% 11,781
O=SgH SHH & 25,160,000& *50% 12,580




orM 2l ot
HY2HZH (A 22 1t)
Jl=23tl fEH)
= _ — d =
SA - B (SA) - MRAY - BYS e 2
02 =224l 4,500 5,252 AT52
Ost=THE al 3l 1,000,000& =14l 1,000
OXteg =Xt 3,500,000 «1CH 3,500
202 Oddl 47,570 47,570 0
01 = LH 4 Hi 45,770 45,770 0
O30t (2LH) 29,210
O3 (22) 16,560
02 M0 1,800 1,800 0
OgUHH(nEXNT &
150,000 1 =123 1,800
203 B R =&l 4,200 7,500 A 3,300
04 FANSEHE=LH 4,200 4,200 0
ORNMSIYRFLH 350,000& =128 4,200
HREs(erd2e ) 260,000 230,000 30,000
WHEHHXZ 260,000 230,000 30,000
=d&E=s 260,000 230,000 30,000
R2J1s8&E=2 260,000 230,000 30,000
0 ol=ds= 260,000 230,000 30,000
OM:t2eldIg dE3 260,000




